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Find the sumof 2 +4 + 6 +... +80
2+4+6+... +80-a51 FmBH60 HTeWIH

Find thesumof1+3+5+ ... +55
1+3+5+ ... +55-a61 gnpPHe0 HT6wID

Evaluate using appropriate Properties

{2 —5} {—4 —8} {—1 2}
X — b —X—pF{—x—
3 12 6 12 4 3

QUT(HSHSLOTET LIWIL|BeN6NdH OldTemi(B LOFHIIL] SHTewIsb:

{2 —5} {—4 —8} {—1 2}

X — b —X—pF{—x—

3 12 6 12 4 3
If a person joins his work in 2010 with an annual salary of Rs. 30,000 and
receives an annual increment of Rs.600 every year, in which year, will his
annual salary be Rs. 39,0007
2010-60 @HeuT Spewi® eargluid Rs. 30,000 ereon uewiuied Gamammt. Gogoib
@aUGeuT(H UL (D Rs. 600 & e eaghul o witeumsll QUEBISMBITT. SieHenL Ul
SLEWIH 2aFHuID  6hd aUBLGHHe0 Rs. 39,000-s15 EHEHEGWD?

Find the common difference and 15t term of A.P 125, 120, 115, 110 ...
125, 120, 115, 110 ... ee@B gl BHOSTJauflensuied CuUTEH alHHunFsHmauyn 15
UG 2 WILHLIUID SHITENTS.

In an A.P, sum of four consecutive terms is 28 and the sum of their squares is
276. Find the four numbers

R LGS OHTLTaflmauled DIGHHBHD BTG 2 pISeilar FndHeo 28 LoBmID
SluBBIeT uTHBMmIB6TN FmBHe0 276. DbHSH BTG 6CI60IHN6NS HTWISH.

The sum of three consecutive terms that are in A.P is 27 and their product is
288. Find the three terms.

R Sl (BHOSHTLT auflengulsd SWHH DBSHHGHS CPaIB 2 mINLH6eMeT FnBH6e0
27 1oB@Ib SeuBpslest  OLIHEBSMLIGVET 288 6elled, SHS WHIM 2 BILILEHM6NS
SITCT 5.

Find the sum of the first 25 terms of the geometric series 16-48 + 144-432 +...
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16 - 48 + 144 - 432 + ... a3 QUHESHSH OGBHTLHL 2 6ol (IpHev 25 2w |Herfes
Fn(bHEM6VDH  HITENITS.

9. If the 4t and 7t terms of a G.P are 54 and 1458 resp, find the G.P

RmH OUmEGSH T Jauflensulsd 4 Sieukl LOBBID 7 LUk 2 mIS6eT (LpenpGul
54 1oB@Ib 1458 elelled, DISHOSHTLT eullengenulss STeuls.

10. Find the common ratio and the general term of the geometric sequences 0.02,
0.006, 0.0018, ....
0.02, 0.006, 0.0018, .... QUBESGS CHTJauflmFseien QUTH lFHHHSHWID LOBHBID
DIHHT OUTH 2 BILIEHUIUL|LD SHT6E0I8.

11. Find the geometric progression whose first term and common ratios are a =
256, r=0.5
a =25, r =05 wper o gy wwopd Ourgk lHHD  CEThHHBLILIL (HelTengl,
SIH@ML U OLHEGH OFHTLTeullengsamend HTewis.

12. InaG.P 729, 243,81, ....Find t;
729,243,81, .... aaiB3 QUBHESHSH CHTLTaufenguler 7augh o mIIenLd SHT6usm.

13. 1+2+3+...+n=120find ?+2°+3+..4+n°
1+2+3+...+n=120aaled P+2°+3+..+n’a1 WA BTEHIH.

14. If 2+2°+3+..4n°=36100, thenfind 1 +2+3+ ... +n
P+2°+3+.+n°=36100 aiediled, T+2+3 + ... + n &1 WHIDUS BT,

15. 26+27+28+ ... +60

16. If the sum of 3 consecutive integers is 540. Then integers are

SBH5BHH  umD  cpam W WwAlsalEr gl BHeHTmEe 540  eeien
DD ILBHED6TSH  SHTEHIH.

17. A number consists of two digits whose sum is 9. The number formed by
reversing the digits exceeds twice the original number by 8. Find the original

number

Qb  BTeNge0HD  clewienllell AevHEMmIBaTET FnBHe0 9. BevHIMmIGBMmMET @ LOTHM
HLEGD B B6e0HDH 66w, (PHemBHUIl 6cTewIeniel  EHIOLBInSHDH ST Ige0d 18
DIFFBD 6163160, DIAIGIAICTHTENETS HTEWIS.

18. Ifa,b,c, I, marein A.P then the valueofa-4b+6c-41+m="7?
a,b,c |, m aaug ' GH OH1_jauflenguied miniesr a-4b+6c-41+m=7?

19. The difference between a number and its two third is 30 more than one - fifth

of the number. Find the number.
QH eTeIeNIBGHD, DIHET cPAIBed @T6wI(H L RSBGHWD 2 6i6en  alHSHUWITFIOTERISI,
DIHET WHHL @H WLHEMS ol 30 DIHHD 61660, Db 6T6NINIES SHTEWIS.
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20. In a flower garden, there are 23 rose plants in the first row, 21 in the second
row, 19 in the third row and so on. There are 5 rose plants in the last row. How

many rows are there in the flower garden?

R YbhBHT L HH0 (pHeo auflengulsd 23 Grrmns OQFigHe, @FewiLmd euflenguisd
21 Gymend QFyser, apaipmd euflengulsd 19 Gyrmrd OFseT 66iB  (Lpenmuied
G GFyser @ OFHTLToflenF Simwlilsd o slemer. HmLd euflenguled 5
Grmegrs GFyse AU, SIIYHCHTL L GHFH6L 61HHma alflengsHell 2 6lTeren?

21. There numbers are in the ratio. 2 : 5 : 7. If first number, the resulting number
on the substraction of 7 from the second number and the third number form
an arithmetic sequence, then find the number.
el eTemTdheren BB 2 :5 17 61661%. (LPSH6VMID 616w, ETCHWILMTID 616301600160 (HbHSI
Tmé sWSHSI OUBLILIGLD 616wl LOBBID CLPSEIBTLD 6160 HWT @H Fnl (hdh OHTLT
aflmgmul gBLBSHH M0, DII0l6UETTIHM6TSH BHT6wIH.

22.  Write an A.P. whose first term is 20 and common difference is 8
WPHeL 2 Iy 20 el OuTgl alHHWTFID 8 SFab CETmIL gl (hdh OHTLIT
auflengenul 61(LDSHGLD.

23. The 4t term of a geometric sequence is % and the seventh term is ;—i Find the
geometric sequence.

QM CUmBGHSH CHTLT euflenguile HTHISTEUSH © BILL] % OBMILD  SHIHGT  GJLPGUTHI

2 mi ;—iaabﬂ@, SILOLHBGHS CHTLJouflenFamuld HTemlH.

24. The fifth term of a G.P is 1875. If the first term is 3, find the common ratio.

RH CUmHBGHSHOSTLTauflengule (PpHev o M| 3 BB WHSHTeudH o min] 1875
aaalley, DIHe OUTH aIHFHD HTewISb.

25. In a G.P the Product of three consecutive terms is 27 and the sum of the

product of two terms taken at a time is % Find the third terms

QM QumE®HS CaTLjauflngulsd DIBSSHHS cpaim 2 mIlseller GILIhHEHSBLIV6T
27 1oB@Ib Semeuseiled @Fenigreni® o miiHeller OLHBEBBLICVET  Fn(HFHeL %

aefley, SIbSD (LOSIHI 2 MILIL|HEM6TH  HTCNISH.

26. The sum of the digits of a three digit number is 11. If the digits are reversed,

the new number is 46 more then five times the old number. If the hundred
digit plus twice the ten digit is equal to the units digit. Then find the original
three digit number?
QM cpalevdd elewteniley, BeubamiBeNer Fnl (hHev 11. Bevdbsmismen @ LO(HbHS
QUEVLDTS  aUfleng  LOTMMIEITEL LWL 616001 LIGHIDUI  6T600T6mI60 goh&HI L Mend el 46
SFBD USHSHTD B BOevssHHET H WLHEHTH HIBTD G JevdsHmeHsH
L IQETT60 Q&IIBTD B BevdHHD HMLHGWD 6l6alled, DbHSH cpalleudhsd 6T6016M6m0IH
SITCT 5.
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27. If1+2+3+...+n=666then find n.
1+2+3+...+n=0666 aaied, N-et AL HTCHI.

28.  Which is the greatest? 4823
6 9 11 13
4 8 2 3 .o
-, =, —, — BeuBmlen Quflwg e1g?
59’ 11’ 13 20 fugl el

29. 1*+3+5%°+..+57°
30. 182+12°+13+...+28°

31. The common ratio of G.P a™™",a™,a™".
a"",a",a™" e OUHEGHSH OHTLJauflengulleasr CUTEH al&Hlgb

32.  Find the sum of all 3-digit natural numbers, which are divisible by 8?
8 960 AUGLILBLD DIMATHSH! cpepslevdd @UleL 6TewTHerllel FnBHe0 HTEwIH.

33.  Which term of the Arithmetic sequence 24, 23%, 22%, 21%,...

24, 23%,22%, 21%,... a3 AP uled 3 eIeiugl eidhHemenuimaighl © mili] Oy&i?

34. Find 12t term of the A.P +2,3V2,5\/2.....
V2,3v2,542,... A.Pulsd 126us o mii wirg?

35. Ifa, b, carein A.P than E—_b=?

.
a, b, c aieiiuer @ WL BH OHTLT auflwguied o eitemen ereied Z—_S=?
36. Find the sum of the finite series 1 + 11 + 111 + ... + 20 terms

1+11+111+ ... + 20 o_misen auedy (Waml OHTLJHeMer FmBHD HT6wIsm.

37. Find the sum of the Geometric series 3+ 6 + 12 + ... + 1536
3+6+12+ ... +1536 a&iB3 OQUBHBGHDH OHTLFET FnbHHe0 SHT6EMIH.

38. If3+k 18-k, 5k +1 arein A.P then find k.
3+k, 18-k, 5k +1 gpdfwienr anl' (% OFTLjeullens erefled k-3 &rewis.

39. How many terms of series 1° +2°+3° +... should be taken to get the sum 144007
P+2°+3+... ot OHTLHST eihHewean 2 BIlBM6Td  dnl 19anTed  Fn(BEHev 14400
BN H@GLD.

40. Find the total volume of 15 cubes whose edges are 16cm, 17cm, 18cm, .... 30
cm respectively

16 Q&185, 17 Q.15 18 6&F.16...30 OF.16 SwueaauBenn (WoBCw udHs
SleeHeneNd OBTewIL 15 HeiF FHTHISET ST 6N H6M6T FnHHeN60H HTENISH.
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